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                                                                                                             Let-5

Ex:(1)Find the missing word 

1)4×____=8                     2)_____×3=15                 3)7×_____=21              4)9×8=____                 

5)6×____=30                  6)8×_____=64                    7)4×7=_____                8)6× ____=42 

9)____ ×9=81                  10)3×___=27 

Ans: 

1)2        2)5           3)3           4)72           5)5           6)8             7)28           8)7            9)9          10)9 

Ex:(2)Convert the following term in addition 

 

1)5×2=10                 2)9×8=72                    3)6×7=42             4)7×8=56               5)6×9=54        

6)7×3=21                   7)9×4=36                   8)5×7=35            9) 9×4=36               10)7×7=49                 

 

    

Ans: 

1)5+5=10         2)9+9+9+9+9+9+9+9 =72         3)6+6+6+6+6+6+6 =42        4)7+7+7+7+7+7+7+7=56          5)6+6+6+6+6+6+6+6+6=54 

6)7+7+7=21      7)9+9+9+9=36                           8)5+5+5+5+5+5+5 =35        9)9+9+9+9 =36                          10)7+7+7+7+7+7+7=49 

###Recall the times table   4,5,6 

 

 



Word Problem:     

                                                                                 p-49 

1.How many legs do the cow have? How many legs do 7 cows have altogether? 

Soln: 

We know, 

                    1 cow have  4 legs 

Therefore  7 cows have (4×7) legs 

                                          =28 legs 

Ans: 28 legs altogether. 

 

2)A car has 4 wheels. How many wheels will be needed for 5 cars? 

    Soln: 

                    1 car has 4 wheels 

Therefore  5 cars has (4×5) wheels 

                                      =20 wheels. 

Ans:20 wheels will be needed. 

 

                                                                                        p-51   

1)Raju’s  father works 6 days in a week. How many days will he work in 7 weeks? 

Soln: 

                     1 week Raju’s father works   6 days 

Therefore   7  weeks Raju’s father works  (6×7)days 

                                                                            =42 days 

Ans: He will work 42 days. 

                                                             

 

                              The end 

    

          

 


